UG/4th Sem (G)/22 (CBCS)
.G 4th Semester Examinations 2022

PHYSICS (General)
Paper Code : SEC-2

(Electrical Circnits and Network 5kills)
Full Marks - 40 Time - Two Hourss
The figires in the margm indicate full marss.
Answer aif the questions.
Choose the comract eption

Each question carmes 7 marks 2=20=4)

1. Three res:stances each of & ohms are connscted in parallel Whar :5 the equivalent

TESIStance?
(4) 60
(B)20
(C)30
O 10
L & ezw yem G Ginem areeil FreaE wnEnE €% T @ we R
(A) 602
(B) 20
(C) 30

) 19

b

The resistance (m ohm) of a 1de=al volmster 15 —
(A) Z=ro

{B) Tnfinme

(€)1

D) 100
[ETO]



2wl wes cerbfirem i TEy
(A) ¥
®) WM
(C)la
(D) 1006

-

3. The value of power fHictor in purely capacitne carcuit 15 —
(A) mowmm

(B) 1

(C) zero

(D) munmsam

3. Au% HEE T TES WO W9F TEY
(&) >Hms
® 1
(C) 7
) Ffera
4 What s the principle of A C. Generator?

(A) Munial indiction
{B) Electromamnstic mduction
(C) Energv conssrvation

(D) Momeénnum conservanon
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(3

- ofF el Tl $e

(A) [E=eifas =T
(B) Sieeywam =
(C) =if wrest

(D) =0 AR

What is the frequency (in Hz) of AC in India?
(A) 100

E) 70

(C) 30

{D) zero

BlATE ARAE 2AED (AC) TR
(A) 100 Hz
(B) 70 Hz

(C) 50 Hz
(D) ==

The avemge value of altemating current £) 2 complete cycle s —
(A) Zero
{B) One
(C) T

(D) Thiee

[BTO]
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6. @zl ol st ofqed] warsa o e =T

(A) =
(B) &=
(C) 72
D) fei
7. Which device converts AC to DC?
(&) Inverter
(B) Rectifier
(C) Transformer
(D) Generater
7. 3w 92l AC- DC-(¥ Hoirdfrs wray
(&) TweEhH
(B) crafbotig
(C) Brpm
(D) ce=iraba
8. Which ane 5 the sermconducting mantersal?
(A) Fe
(B) B
(€) S

(D) Cu

[BTO]
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s meefmE) omel s

(A) Fe
(B) Pt
©) %

P) Cu

Kirchoff's volmge law obays —

&) e i T o e

(B) consérvation law of chiarse

(C) comservation law of momentum

(D) conservation law of mass

[PesT-a9 (S5 7T SR 5 5T E
(A) =& w72

(B) WIHIC=a R 78

(C) =ALTa Forse 7E

(D) =i 7w 72

The commercial unit of eleamnical powsr s —
(A) Joule

(B) Wan

(C) BOT
(D) Watt-hour
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11

reiee «fEm aeane gwalh §y
(A) F&

B) &Il

(C) BOT

(D) -5l

I AC TR crrount, winch one 15 mue?
(A) Vbltaze leads

(B) Cusrent leads

(C) Voltage lags

() None of these

11«2l LR 9oa5s (Hiwe 7ot

(A) oo (FE) =
B) mh (Fre) gl
(C) (BT (#1%) 6=l

D) Toitaa Fwes

(A) +QV
B) :CV
(©) iR

D) 2 VI

{

. The energy stored i the capacitor 5 —

g

)

[BTO]
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HTATER WETEE HEe = ue —
(A) 4QV

{B) +CV

(C) ¢R

@) V1

13, The peak valus of 220 volt ac 13 —

13

14 Flemmungs's leff hand rule 15 applicable m —

(A) 220 volt
(B) 311 voh
(C) z=r0

(D) miime

“fged] gass S 220 (EEhE WA 1 wE —

(A) 220 rerB
{B) 311 (=
(C) v

(D) A

(A) motor
(B) dynamo
(C) trmsformer

(D) nons of the above

]
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14 Frafafre @m oy @fe-am am oz Tl amen

16.

(8 )

(A) (GA

(B) EwIl

(C) B

(D) Ttz (=taihE

In AC generator energy transforms from —
(&) mechanical to electrical

(B) =lectncal 1o tnecharcal

(C) thetmal o eleriricat
{D) nonz of the abowe

. 9% (et «fs werefe = —

(&) e *fe (o fes e
(B) =fee e (o= wigs wfe
(C) = #fis core afce #fE
(D) Toza =il

The KVL 15 called —
(A) loop mule

(B) junction muls

(€) branch nule

{D) ternunal mule

[BTO]
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16. KVL fumflre o1 21 —

(A) 7% 75

(B) @i 3
(C) e o=
(D) Brafemie w4

17 Alternating currents can be producsd bva—
(&) dynamo
(B) choke coil
(C) transformer
{D) =lecmc motor

17, b offadl games Taoma:
(A) EF=T=
(B) i
(C) Grmps
(D) Tawifes @itz

18, A capactior acts as an mfinide resistance for —
(4) DC
(B) AC
(C) DC as well as AC
(D) netther AC ner DC

[TO]
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1%

{10 )
G5 HER (A CETE EAT (AT WS A
(A)yDC
(B) AC

(C)DC a7 AC T =13

{D) AC 91 DC == =8 =9

With merease m frequency of an AC supply. the impedance of a LCR senss ewomt —
(A) remams constat

(B) mereasss

(C) decreases

(D)) decrsases at fOrst, becomes nunmmum and then ncreases

. offzad) sz Fuim e MY, o= LCR el seraml eferany (3Fires) —

(A) 7= 2R
B) 9% =
(C) =™ =M

(D) =473 ZIH (o7 T 2% & A 9 A

m&mﬂfw 15 same as the dimension of —
B Resistance B

(A) twre

(B) capacitznce

(C) .cument

(D) voltage

[TO]



20. ﬁm -4 WG, cEe i SEE HIe e
(A) ¥
(B) 4y
(C) Harara

(D) FFre= 2w



